Ol
S

A AFGETE

K4 XKW & e 23 a2=7 ¢
40 0mBHE 4:23.99 13#%

BTl BERAALI VTV T THE
B FIATERKK B RSB WT T 1#k
VL EDOKITTHEDZINVE LT T Z L a Gk
LEd
SERK 29 42 4 H 9 H
FBIEE A A I T 7T T He

=R 50 &



L

A ARG IE AL

K4 faE EAAL fE 23 a2=74

40 0mfEAANARL— 4:35.65 12%

BTl BERAALI VTV T THE
A RIAFRIKEKBER=IZHBENTT 1#&
VL EDOKITTHEDZIVE LT T2 La Gk
LEd
SERK 29 42 4 H 9 H
FBIEE A A I T 7T T He

=R 50 &



AR=S I === N
A AAGRTEGIE

K4 Bk e I2Ia2=7 4

50mBHE 28.25 11#%k

BTl BERAALI VTV T THE
B FIATRRKK B RSB WT 1 1#k
VL EDOPKITTTERDZINVE LT T2 La ik
LEd
SERK 29 42 4 H 9 H
FBIEE A A I T 7T T He

=R 50 &



2>
>
=
T
o2al
FF
nlllll
S

K4 ®iH  RA il 23 a2=7 ¢
50mBHE 34.84 11k

BTl BERAALI VTV T THE
B FIATRRKK B RSB WT 1 1#k
VL EDOPKITTTERDZINVE LT T2 La ik
LEd
SERK 29 42 4 H 9 H
FBIEE A A I T 7T T He

=R 50 &



11 =K] it =1
A AR TERIE
K4 Bk e a2la=7~4
20 0mBMHFE 2:12.43 11k

BTl BERAALI VTV T THE
B FIATERKK B RSB WT T 1#k
VL EDOKITTHEDZINVE LT T Z L a Gk
LEd
SERK 29 42 4 H 9 H
FBIEE A A I T 7T T He

=R 50 &



Ol
S

A AFGETE

K4 XKW & e 23 a2=7 ¢
20 0mHEHBFE 2:05.39 11#%

BTl BERAALI VTV T THE
B FIATERKK B RSB WT T 1#k
VL EDOKITTHEDZINVE LT T Z L a Gk
LEd
SERK 29 42 4 H 9 H
FBIEE A A I T 7T T He

=R 50 &



